

It can also be shown, by calculation, that

$$G(C') = \{x' \in C' : x' = (e^{i\alpha}), \alpha \in \mathbf{R}\}$$

and

$$G(C'') = \{x'' \in C'' : x'' = (e^{i\beta n})\}.$$

It is easy to show that

$$(G(C'), G(C'')) = G(A).$$

Hence

$$T((e^{i\alpha}), (e^{i\beta n})) = ((e^{i\alpha}), (k_n)),$$

where

$$k_1 = e^{i\alpha} \quad \text{and} \quad k_n = e^{i\beta n} \quad \text{for} \quad n > 1.$$

Since not every element of $G(A)$ is of the form $((e^{i\alpha}), (k_n))$, $TG \neq G$.

References

[1] F. F. Bons'all and J. Duncan, *Numerical ranges of operators on normed spaces and of elements of normed algebras*, Cambridge 1971.
 [2] R. Larsen, *An introduction to the theory of multipliers*, New York 1971.
 [3] J. Pickford, *Doctoral thesis*, University College of Swansea, Wales., 1972.
 [4] C. N. Rickart, *General theory of Banach algebras*, New York 1960.
 [5] R. Rigelhof, *Norm decreasing homomorphism of group algebras*, Trans. Amer. Math. Soc. 136 (1969), pp. 361-372.
 [6] N. M. Sinclair, *The norm of a Hermitian element in a Banach algebra*, Proc. Amer. Math. Soc. 28 (1971), pp. 446-450.
 [7] J. G. Wendel, *Left centralizers and isomorphism of group algebras*, Pacific J. Math. 2. (1952), pp. 251-261.
 [8] G. V. Wood, *Isomorphism of L^p group algebras*, J. London Math. Soc. (2), 4 (1972), pp. 425-428.

Received November 27, 1973

(763)

A converse to some inequalities and approximations in the theory of Stieltjes and stochastic integrals, and for n th derivatives

by

L. C. YOUNG* (Madison, Wisconsin)

Abstract. The object of this report is to establish by counter-examples the best possible character of theorems recently obtained about stochastic integrals and Stieltjes integrals, and about n th derivatives and finite differences. The hypotheses involve a pair of estimate functions subject to the convergence of a corresponding integral or Y -series, and it is shown that the divergence of this integral or series render in each case the conclusion false.

1. Our notation will be largely that of [6], [7]. Let n be a positive integer, and let $\varphi(u)$, $\psi(u)$ be functions defined for $0 \leq u \leq 1$, such that φ is non-negative and Borel measurable, while ψ is continuous and monotone increasing, and takes the value $\psi(u) = 0$ only at $u = 0$; further suppose that, for $0 < \lambda < 1$,

$$(1.1) \quad \varphi(\lambda u) \geq (\frac{1}{2}\lambda)^n \varphi(u), \quad \psi(\lambda u) \geq \frac{1}{2}\lambda \psi(u).$$

We denote by $\{h\}$ a decreasing sequence h_ν ($\nu = 0, 1, \dots$) with limit 0 and with initial term $h_0 \leq 1$. We write

$$(1.2) \quad Y = \sum_{\nu=0}^{\infty} (h_\nu)^{-n} \varphi(h_\nu) \psi(h_\nu),$$

and we denote by Y_N its partial sum for $0 \leq \nu < N$. For $n = 1$, $h_\nu = 2^{-\nu}$, the series (1.2) occurs in [2] and it then converges or diverges with the sum $\sum \varphi(1/\nu) \psi(1/\nu)$ previously introduced in [5]. This last sum has been termed Y -series by Leśniewicz and Orlicz [1]. We prefer here to term Y -series the series (1.2): it was itself introduced, for $n = 1$, in [3].

We say that the sequence $\{h\}$, or the Y -series Y , satisfies the condition $C(1)$, if for each ν the ratio $h_{\nu-1}/h_\nu$ is an integer expressible as an integer power of 2, and satisfies the condition $C(2)$ if

$$(1.3) \quad 2\psi(h_\nu) \leq \psi(h_{\nu-1}) \leq 8\psi(h_\nu).$$

* Sponsored by the United States Army under Contract No. DA-31-124-ARO-D-462, and National Science Foundation under Contract No. GP-27211.

We say it satisfies partially $C(2)$, if it satisfies the first of the two inequalities (1.3).

In the case of a Y -series subject to $C(1)$, $C(2)$, the convergence or divergence of Y is clearly equivalent to that of the series

$$(1.4) \quad S_{(h)} = \sum_{r=1}^{\infty} (h_r)^{-n} \varphi(h_r) \psi(h_{r-1}),$$

and, by [7], Appendix A, §A3, equivalent to that of the integral

$$(1.5) \quad S(h) = \int_0^h u^{-n} \varphi(u) \psi(u) du.$$

We recall that, by the same reference and [6], §3, there always exists a Y -series subject to $C(1)$ and $C(2)$.

(1.6) THEOREM. Let F be a continuous real, complex, or Banach-valued, function of the real variable t , and suppose

$$(1.7) \quad |\Delta_h^* \Delta_k^* F(t)| < \varphi(h) \psi(k) \quad (0 < \frac{1}{2}h \leq k \leq 1),$$

where Δ_h^* is the difference operator given by

$$\Delta_h^* F(t) = F(t + \frac{1}{2}h) - F(t - \frac{1}{2}h).$$

Further suppose the integral (1.5) convergent for some $h > 0$. Then F has a continuous n -th derivative $F^{(n)}$, satisfying uniformly in t , for $0 < h \leq 1$, the inequality

$$(1.8) \quad |F^{(n)}(t) - h^{-n} \Delta_h^{*n} F(t)| \leq K_n S(h),$$

where K_n denotes a constant depending only on n .

The above statement is established by the slightest of changes in the proof of [7], Appendix A, Theorem A2.1. In that reference it was assumed that (1.7) held for $0 < h \leq 1$, $0 < k \leq 1$, instead of for $0 < \frac{1}{2}h \leq k \leq 1$, but the proof nowhere used this. In addition we have here subjected ψ to the second inequality in (1.1), and therefore defined the condition $C(2)$ by (1.3), whereas in the reference ψ fulfilled the weaker inequality $\psi(\lambda u) \geq (\frac{1}{2}\lambda)^2 \psi(u)$, and the constant 8 in (1.3) was consequently changed to 32. Our present stronger condition merely weakens the statement of our theorem, but we prefer this weaker form in order to obtain a more precise converse, in which, incidentally, the dissymmetry we have introduced between h and k , and therefore between φ and ψ , is essential.

The main object of this note is to establish such a converse to (1.6), and at the same time to related theorems about Stieltjes and stochastic integrals. In these converses the integral (1.5) is supposed divergent. The converses were suggested by a counterexample due to Leśniewicz and

Orlicz [1], and in the case of Stieltjes integrals our results cover cases these authors found it necessary to exclude.

Henceforth we assume φ monotone increasing. Later, in the converse results relating to convolutions we shall strengthen this assumption, because the dissymmetry between h and k will then disappear. However, our assumptions will always remain necessary for the validity of our results in the most natural context, which is that in which φ , ψ are orders of magnitude, such that every product or ratio of powers of φ , ψ , multiplied or divided by a power of the identity function, is automatically monotone.

2. Our basic converse theorem is as follows:

(2.1) THEOREM. Let φ , ψ be subject to the conditions stated at the beginning of Section 1, and suppose now φ monotone increasing. Then if the integral (1.5) is divergent, there exists a continuous F subject to (1.7), such that, at $t = 0$, $F(t)$ does not possess a finite n -th derivative.

Explicit specification of F . Since (1.5) diverges by hypothesis, there exists, by what has been said, a divergent Y -series subject to $C(1)$ and $C(2)$. We only use the fact that there is a divergent Y -series subject to $C(1)$ and partially to $C(2)$. We fix the corresponding sequence $\{h_r\}$ and we write

$$F(t) = (-i)^{n+2} c \sum_{r=0}^{\infty} \varphi(h_r) \psi(h_r) e^{2\pi i t / h_r}.$$

Here c is a positive constant to be specified later. The function F is continuous and periodic, since the series on the right converges absolutely and uniformly: this last is because $\sum \varphi(h_r) \psi(h_r)$ is dominated, on account of the first inequality (1.3) and of the monotony of φ , by a multiple of the geometric series $\sum 2^{-r}$. Thus we must verify that

$$(2.2) \quad F \text{ satisfies (1.7),}$$

$$(2.3) \quad F \text{ has no finite } n\text{-th derivative at } t = 0.$$

Proof of (2.2). We have at $t = 0$,

$$\begin{aligned} 2^{-n-2} c^{-1} \Delta_h^{*n} \Delta_k^{*2} F(t) &= \sum_r \varphi(h_r) \psi(h_r) \sin^n(\pi h / h_r) \sin^2(\pi k / h_r) \\ &= \sum a_r \quad \text{say.} \end{aligned}$$

Here, as t varies, the quantity on the left attains a greatest absolute value $\leq \sum |a_r|$. Therefore (2.2) reduces to estimating the sum

$$\sum |a_r| = \sum_1 + \sum_2,$$

where \sum_1 is the sum for $h_\nu \leq \text{Max}(h, k)$, and \sum_2 for $h_\nu > \text{Max}(h, k)$. In \sum_1 we have

$$\begin{aligned} |a_\nu| &\leq \varphi(h_\nu)\psi(h_\nu) \leq \varphi(h)\psi(h_\nu) & \text{if } h_\nu \leq h, \\ |a_\nu| &\leq \varphi(h_\nu)\psi(h_\nu)(\pi h/h_\nu)^n \leq (2\pi)^n \varphi(h)\psi(h_\nu) & \text{otherwise.} \end{aligned}$$

This second estimate is therefore valid in all cases, and if N is the smallest value of ν in \sum_1 we find that, if $h \leq k$,

$$\sum_1 \leq (2\pi)^n \varphi(h) \sum_{r=0}^{\infty} \psi(h_{N+r}) \leq (2\pi)^n \varphi(h)\psi(k) \sum 2^{-r} \leq 2(2\pi)^n \varphi(h)\psi(k),$$

or similarly, if $\frac{1}{2}h \leq k < h$,

$$\sum_1 \leq 2\varphi(h)\psi(h) \leq 2\varphi(h)\psi(2k) \leq 4\varphi(h)\psi(k) \quad \text{by (1.1),}$$

so that the previous estimate is still valid. On the other hand, in \sum_2 we have, since $|\sin \theta| \leq |\theta|$,

$$|a_\nu| \leq \varphi(h_\nu)\psi(h_\nu)(\pi h/h_\nu)^n (\pi k/h_\nu)^2 \leq 2^{n+1}\pi^{n+1} \varphi(h)\psi(k)(\pi k/h_\nu),$$

on account of (1.1). Thus by $C(1)$,

$$\begin{aligned} \sum_2 &\leq \pi(2\pi)^{n+1} \varphi(h)\psi(k) \sum_{h_\nu > k} (k/h_\nu) \leq \pi(2\pi)^{n+1} \varphi(h)\psi(k) \sum 2^{-r} \\ &= (2\pi)^{n+2} \varphi(h)\psi(k). \end{aligned}$$

Evidently (2.2) follows by choosing c so that

$$2^{-n-2}c^{-1} = (2 + 4\pi^2)(2\pi)^n.$$

Proof of (2.3). We shall make h describe the sequence $\{h\}$. We therefore set now $h = h_N$. By $C(1)$ the quantity $\sin(\pi h/h_\nu)$ then vanishes for $\nu \geq N$, and lies, for $\nu < N$, between 1 and $2h/h_\nu$, since the minimum of $(\sin \theta)/\theta$ in $0 < \theta \leq \pi/2$ is $2/\pi$, attained at $\theta = \pi/2$.

Thus at $t = 0$ we have

$$\begin{aligned} |h^{-n} \Delta_h^n F(t)| &= 2^n c h^{-n} \sum_{\nu=0}^{N-1} |\varphi(h_\nu)\psi(h_\nu)| \sin^n(\pi h/h_\nu) \\ &\geq 2^n c h^{-n} \sum_{\nu=0}^{N-1} \varphi(h_\nu)\psi(h_\nu) (2h/h_\nu)^n \geq c \sum_{\nu=0}^{N-1} h_\nu^{-n} \varphi(h_\nu)\psi(h_\nu). \end{aligned}$$

This means that, in norm, the symmetric difference ratio of order n exceeds a constant multiple of the partial sum Y_N of our divergent Y -series, and so tends to infinity as $h \rightarrow 0$ along the sequence $\{h\}$. The possibility that F has a finite n th derivative at $t = 0$ is clearly excluded, and this completes the proof of (2.3), and so of Theorem (2.1).

3. Let $\varrho = \varphi/\psi$, $\chi(u) = u^{-n} \varphi(u) \sqrt{\psi(u)}$. As stated earlier, we now strengthen our assumptions about φ : we shall suppose ϱ monotone increasing, or more generally subject to an inequality of the type

$$\varrho(\lambda u) < K \varrho(u) \quad \text{for } 0 < \lambda < 1,$$

where K is independent of u, λ . It ϱ is supposed monotone increasing it is clear that the divergence of $S(h)$ implies that of the twin integral

$$S^*(h) = \int_0^h u^{-n} \psi(u) d\varrho(u),$$

since we have then

$$S^*(h) = S(h) + \int u^{-n} \varphi \psi d\log \varrho \geq S(h).$$

This is the "reason behind the requirement on ϱ ", but we do not use it in any explicit way.

In addition we shall make an assumption on χ in relation to the sequence $\{h\}$, but this is not really an assumption, because we can arrange, as will be seen below, for it to be satisfied, simply by choosing $\{h\}$ conveniently. We shall assume that the sequence

$$\chi(h_\nu) = \chi_\nu \quad (\nu = 1, 2, \dots)$$

increases monotonely. Of course, if the sequence is monotone, it has to be monotone increasing, since

$$\sum (\psi(h_\nu))^{1/2} < \infty, \quad \text{while} \quad \sum \chi_\nu (\psi(h_\nu))^{1/2} = Y = \infty.$$

The function F will now be chosen as before except for the choice of the constant factor c , which we write in the form $c = c_1 c_2$, where $c_1 > 0, c_2 > 0$ are still to be determined. In that case F is now the convolution $f * g$ of the pair of functions

$$\begin{aligned} f(t) &= (-i)^n c_1 \sum_{\nu=0}^{\infty} \varphi(h_\nu) e^{2\pi i t/h_\nu}, \\ g(t) &= (-i)^2 c_2 \sum_{\nu=0}^{\infty} \psi(h_\nu) e^{2\pi i t/h_\nu}. \end{aligned} \tag{3.1}$$

To see this it is sufficient to verify the convergence of $\sum \varphi(h_\nu), \sum \psi(h_\nu)$. The former is majorized by the multiple $K \varrho(h_0)$ of the latter, which is in turn majorized, on account of the first relation (1.3), by a multiple of the geometric series $\sum 2^{-\nu}$.

The convolution $F = f * g$, on the period h_0 , which we take to be 1, satisfies the identity

$$\Delta_h^{*n} \Delta_k^{*2} F = (\Delta_h^{*n} f) * (\Delta_k^{*2} g).$$

It will follow that relation (1.7) must remain valid in the wider range $0 < h \leq 1, 0 < k \leq 1$, if we verify, as we now shall, that by choice of c_1, c_2 ,

$$(3.2) \quad |\Delta_h^{*n} f(t)| \leq \varphi(h), \quad |\Delta_h^{*2} g(t)| \leq \psi(h).$$

Verification of (3.2). We have, at $t = 0$,

$$2^{-n} c_1^{-1} \Delta_h^{*n} f(t) = \sum \varphi(h_r) \sin^n(\pi h/h_r) = \sum b'_r \quad \text{say,}$$

$$2^{-2} c_2^{-1} \Delta_h^{*2} g(t) = \sum \psi(h_r) \sin^2(\pi h/h_r) = \sum b''_r \quad \text{say,}$$

where as before the left-hand sides attain, as t varies, a greatest absolute value $\leq \sum |b'_r|$, or $\leq \sum |b''_r|$. We write

$$\sum |b'_r| = \sum'_1 + \sum'_2, \quad \sum |b''_r| = \sum''_1 + \sum''_2,$$

where \sum'_1, \sum''_1 are sums for $h_r \leq h$, and \sum'_2, \sum''_2 for $h_r > h$. We write λ_r for $(\psi(h_r))^{-1/2}$, and N for the smallest ν such that $h_r \leq h$.

In \sum'_1, \sum''_1 we have

$$|b'_r| \leq \varphi(h_r) \leq K_Q(h) \psi(h_r), \quad |b''_r| \leq \psi(h_r).$$

Consequently

$$\sum''_1 \leq \sum \psi(h_{N+r}) \leq \psi(h_N) \sum 2^{-r} \leq 2\psi(h),$$

$$\sum'_1 \leq K_Q(h) \sum'_1 \leq 2K_Q(h) \psi(h) = 2K\varphi(h).$$

On the other hand, in \sum'_2, \sum''_2 we have $\nu = N - 1 - r$ ($r \geq 0$), so that

$$|b''_r| \leq \psi(h_r) (\pi h/h_r)^2 \leq 2\pi^2 \psi(h) h/h_r \leq 2\pi^2 \psi(h) 2^{-r},$$

$$|b'_r| \leq \varphi(h_r) (\pi h/h_r)^n = (\pi h)^n \chi_r \lambda_r \leq (\pi h)^n \chi_{N-1} \lambda_r$$

$$\leq 2^{-r/2} (\pi h)^n \chi_{N-1} \lambda_{N-1} = 2^{-r/2} (\pi h/h_{N-1}) \varphi(h_{N-1})$$

$$\leq 2^{-r/2} (2\pi)^n \varphi(h).$$

Therefore

$$\sum''_2 \leq 2\pi^2 \psi(h) \sum 2^{-r} = 4\pi^2 \psi(h),$$

$$\sum'_2 \leq (2\pi)^n \varphi(h) \sum 2^{-r/2} = (2 + \sqrt{2})(2\pi)^n \varphi(h),$$

and to derive (3.2) it is enough to choose $c_2^{-1} 2^{-2} = 2 + 4\pi^2, c_1^{-1} 2^{-n} = 2K + (2 + \sqrt{2})(2\pi)^n$.

4. Thinning the Y-series. We denote by y_r the general term $\chi_r \sqrt{\psi(h_r)}$ of the Y-series (1.2), where by hypothesis $O(1)$ is fulfilled, and partially $O(2)$, and the series $\sum y_r$ diverges. For this series we shall now suppose the first inequality (1.3) strengthened to

$$(4.1) \quad 16\psi(h_r) \leq \psi(h_{r-1}), \quad \text{i.e.} \quad 4\sqrt{\psi(h_r)} \leq \sqrt{\psi(h_{r-1})}.$$

This means that, for any ν ,

$$(4.2) \quad \sum_{r=1}^{\infty} \sqrt{\psi(h_{\nu+r})} \leq \sqrt{\psi(h_\nu)} \cdot \sum_1^{\infty} 4^{-r} = \frac{1}{3} \sqrt{\psi(h_\nu)}.$$

We arrange for (4.1) to be satisfied, simply by choosing s from the values $0, 1, 2, 3$ in such a manner that the series

$$\sum_\nu y_{4\nu+s}$$

be divergent, and by then rewriting h_r for $h_{4\nu+s}$, and the other symbols correspondingly.

However, the new divergent Y-series thus obtained will now be thinned out further, and for this purpose we denote by E the set of suffixes ν for which

$$\nu' < \nu \quad \text{implies} \quad \chi_{\nu'} \leq \chi_\nu.$$

We write further E_r for the set of positive integers r such that

$$\chi_\nu > \chi_{\nu+r}.$$

Evidently by (4.2)

$$\sum_{r \in E_r} y_{\nu+r} < \chi_\nu \sum_{r=1}^{\infty} \sqrt{\psi(h_{\nu+r})} \leq \frac{1}{3} \chi_\nu \sqrt{\psi(h_\nu)} = \frac{1}{3} y_\nu.$$

It follows easily that $\sum_{\nu \in E} y_\nu$ diverges, since its partial sum for $\nu < N$ differs by at most a third of itself from the partial sum Y_N . If we now rename h_r the r th term of the restriction to $\mu \in E$ of the sequence h_μ ($\mu = 1, 2, \dots$), we see that χ_r now increases monotonely with ν . The corresponding new Y-series is still divergent, and is subject, to $O(1)$ and partially to $O(2)$.

5. We consider specially the case $n = 1$. We shall then show that by modifying the constant factor in $g(t)$ the second inequality (3.2) can be replaced by the first difference condition

$$|\Delta_h^* g(t)| \leq \psi(h).$$

Evidently, by writing $\frac{1}{2}g$ for g , we could then satisfy also the second inequality (3.2) as it stands, so that we are now, in effect, obtaining a stronger result than in the preceding section in our special case.

We choose this time

$$g(t) = -ic_2 \sum_\nu \psi(h_\nu) e^{2\pi i t/h_\nu}.$$

At $t = 0$ we have

$$(2)^{-1}c_2^{-1} \Delta_h^* g(t) = \sum \psi(h_n) \sin(\pi h/h_n) = \sum b_n \quad \text{say,}$$

and as before

$$\begin{aligned} \sum |b_n| &= \sum_1 + \sum_2, \\ \sum_1 &= \sum_{n \geq N} |b_n| \leq \sum_{n \geq N} \psi(h_n) \leq 2\psi(h), \\ \sum_2 &= \sum_{n < N} |b_n| \leq \sum_{n < N} \psi(h_n) (\pi h/h_n). \end{aligned}$$

However, the last sum is now

$$\leq K \frac{\psi(h)}{\varphi(h)} \sum_{n < N} \varphi(h_n) (\pi h/h_n),$$

and this we have already estimated. It is therefore

$$\leq K \frac{\psi(h)}{\varphi(h)} (2 + \sqrt{2}) 2\pi\varphi(h) = K(2 + \sqrt{2}) 2\pi\psi(h),$$

and our assertion follows by choosing $c_2^{-1}2^{-1} = 2 + (2 + \sqrt{2}) 2\pi K$.

We remark that the symmetric differences in (3.2), or in its modification above, can of course be replaced by ordinary differences Δ_h , defined by setting, for an arbitrary function G , $\Delta_h G(t) = G(t+h) - G(t)$. For this, it is sufficient to change the variable t to $t - \frac{1}{2}h$. Thus our functions f, g now satisfy

$$(5.1) \quad |\Delta_h f(t)| \leq \varphi(h), \quad |\Delta_h g(t)| \leq \psi(h),$$

and the convolution $F = f * g$ has no finite derivative at $t = 0$. We note that the second inequality (4.1) can of course be written $|\Delta_h \bar{g}(t)| \leq \psi(h)$, where \bar{g} is the conjugate of g .

6. The functions f, g of the preceding section provide converses to existence theorems for Stieltjes integrals of functions subject to conditions of the type (5.1), and also for corresponding stochastic integrals. It is important that that f, g are periodic and that $\bar{g}(t) = g(-t)$. According to [6] ((5.4), p. 188), this implies, in view of the continuity of f, g that the existence of

$$I = \int_0^1 f d\bar{g}$$

as a Riemann-Stieltjes integral ensures that I be the derivative at $t = 0$ of the convolution $F = f * g$, and in particular that this derivative be finite. Indeed the existence of such a finite derivative at $t = 0$ is shown to be equivalent in such a case to each of the generalized definitions $\mathcal{F}, \mathcal{F}, \mathcal{L}$ of the integral I . Thus for the pair f, \bar{g} of the preceding section,

not only does I not exist as a Riemann-Stieltjes integral, but it also does not exist as the limit of

$$\hat{I} = \int_0^1 \hat{f} d\bar{g}, \quad \text{where} \quad \hat{f}(t) = \int_{t-h}^t f(u) du/h,$$

as $h \rightarrow 0$. Here \hat{f} is an elementary integral easily evaluated by parts on account of periodicity: We have in fact

$$\hat{I} = - \int \hat{f} \bar{g} dt = \int (f(t-h) - f(t)) \bar{g}(t) dt/h.$$

From the same pair of functions f, g we can construct a pair $f(t), \bar{g}(t, \omega)$ and a pair $f(t, \omega), \bar{g}(t, \omega)$, where functions of t only are deterministic, and functions of (t, ω) are stochastic. We do so by the simple expedient of making $f(t, \omega)$ or $g(t, \omega)$ independent of ω . Evidently the covariance of g satisfies

$$|\varpi(\Delta, \Delta^*)| = \left| \int d\omega \Delta \bar{g} \Delta^* g \right| \leq \psi(|\Delta|) \psi(|\Delta^*|).$$

Similarly g satisfies a high-martingale condition. (We use the notation of [6], [7].)

Thus, with our hypotheses on φ, ψ , in all these cases, the divergence of the integral (1.5) implies the existence of a pair f, \bar{g} for which the Stieltjes integral, or the stochastic integral with deterministic or with stochastic integrand, does not exist. This means that the results of [6], [7] can now be regarded as being, in the appropriate sense, the best of their kind.

References*

- [1] R. Leśniewicz, and W. Orlicz, *On generalized variations* (ii), *Studia Math.* 44 (1973), pp. 71-109.
- [2] L. C. Young, *Inequalities connected with binary derivation, integrated Lipschitz conditions and Fourier series*, *Math. Z.* 43 (1938), pp. 255-270.
- [3] — *A further inequality for Stieltjes integrals*, *J. London Math. Soc.* 18 (1943), pp. 78-82.
- [4] — *An inequality of the Hölder type connected with Stieltjes integration*, *Acta Math.* 67 (1936), pp. 251-282.
- [5] — *General inequalities for Stieltjes integrals and the convergence of Fourier series*, *Math. Ann.* 115 (1938), pp. 581-612.
- [6] — *Some new stochastic integrals and Stieltjes integrals*. Part I. *Analogues of Hardy-Littlewood classes*, *Advances in Probability and Applications* (Maurice Dekker, New York, Peter Ney, Editor) Vol. II, pp. 162-240.
- [7] — *Some new stochastic integrals and Stieltjes integrals*, Part II. *High-martingales*, *ibid.*, III (1974), pp. 101-178.

* For additional references, see [6], [7] and [1].